

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

01221103 Letting:

November 03, 2022 11:00

Call Order: 005

E1V85 Contract:

AM

District 1 District:

Counties: DIST/ST-WIDE, LEE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927202 (*)

Contract Desc: Longline Striping & Remove and Replace RPMs

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MCSHEA CONTRACTING, LLC	Responsive	Winning bid	\$2,099,888.15	100.00%
2	TRP CONSTRUCTION GROUP, LLC	Non-Responsive	Non-Winning Bid	\$2,175,299.75	103.59%
3	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$2,273,405.00	108.26%
4	AKCA, LLC	Responsive	Non-Winning Bid	\$2,567,224.00	122.26%
5	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$3,045,148.50	145.01%
6	SOUTHWIDE INDUSTRIES, INC.	Responsive	Non-Winning Bid	\$3,433,487.00	163.51%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting:01221103November 03, 2022Call Order:005Contract:E1V85District:District 1Counties:DIST/ST-WIDE, LEEFed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927202 (*)

Contract Descr: Longline Striping & Remove and Replace RPMs

The work under this Contract consists of Longline Striping & Remove and Replace Reflective Pavement Markers.

Line No / Ite		Alternate	Quantity Units	(1) MCSHEA CO	•	(2) TRP CON			LESBY CTION, INC.
() indicates it	tem is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0710 PAINTED PAVE STANDARD, W	EMENT		6,775.000 SF	2.45000	16,598.75	1.65000	11,178.75	2.50000	16,937.50
0010 0710 PAINTED PAVE STANDARD, YI	EMENT		6,612.000 SF	2.45000	16,199.40	1.75000	11,571.00	2.50000	16,530.00
0015 0710 PAINTED PAVE STANDARD,BL	EMENT	,	239.000 GM	350.00000	83,650.00	250.00000	59,750.00	220.00000	52,580.00
0020 0711 THERMOPLAS WHITE, SOLID	STIC, RE	FURBISHMEN	364.000 T, GM	2,321.00000	844,844.00	2,340.00000	851,760.00	2,570.00000	935,480.00
0025 0711 THERMOPLAS WHITE, SKIP, 6	STIC, RE	FURBISHMEN	267.000 T, GM	523.00000	139,641.00	810.00000	216,270.00	790.00000	210,930.00
0030 0711 THERMOPLAS YELLOW, SOLI	STIC, RE	FURBISHMEN	256.000 T, GM	2,321.00000	594,176.00	2,340.00000	599,040.00	2,570.00000	657,920.00
0035 0711 THERMOPLAS YELLOW, SKIP	STIC, RE	FURBISHMEN	73.000 T, GM	523.00000	38,179.00	810.00000	59,130.00	790.00000	57,670.00



11/03/2022

Tabulation of Bids

Page 2 of 5

Letting:	01221103	November 03,	2022 Ca	II Order: 005		Contract:	E1V85	
Line No / Iter		ate Quantity Units	(1) MCSHEA C		(2) TRP CON GROUE		• •	GLESBY ICTION, INC.
() indicates ite	m is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0040 E706 1 REFLECTIVE PA MARKER(REMO REPLACE)(CLAS	VEMENT VE AND	91,650.000 EA	4.00000	366,600.00	4.00000	366,600.00	3.55000	325,357.50
	MENT STRIPING : MACHINE) (LM)	Section Totals:		\$2,099,888.15		\$2,175,299.75		\$2,273,405.00
	Contract	Grand Totals:		\$2,099,888.15		\$2,175,299.75		2,273,405.00





Tabulation of Bids

Page 3 of 5

Letting	g: 0	1221103	November 03,	2022 Ca	II Order: 005		Contract:	E1V85	
	No / Item ID Description	Alternate	Quantity Units	(4) AKC	A, LLC	(5) ACME BAF	RRICADES LC		E INDUSTRIES, IC.
() inc	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
		Γ MARKINGS, ISLAND NOSE	6,775.000 SF	2.00000	13,550.00	3.00000	20,325.00	2.00000	13,550.00
		Γ MARKINGS, V, ISLAND NO	6,612.000 SF SE	2.00000	13,224.00	3.00000	19,836.00	2.00000	13,224.00
	0710 11331 D PAVEMENT ARD,BLACK, \$	Γ MARKINGS, SKIP, 6"	239.000 GM	150.00000	35,850.00	700.00000	167,300.00	279.00000	66,681.00
	0711 12101 OPLASTIC, R SOLID, 6"	EFURBISHME	364.000 NT, GM	2,900.00000	1,055,600.00	3,200.00000	1,164,800.00	4,224.00000	1,537,536.00
0025 THERM WHITE,		EFURBISHMEN	267.000 NT, GM	1,000.00000	267,000.00	1,500.00000	400,500.00	1,042.80000	278,427.60
	0711 12201 OPLASTIC, R V, SOLID, 6"	EFURBISHMEN	256.000 NT, GM	2,900.00000	742,400.00	3,200.00000	819,200.00	4,224.00000	1,081,344.00
	0711 12231 OPLASTIC, R V, SKIP, 6"	EFURBISHME	73.000 NT, GM	1,000.00000	73,000.00	1,500.00000	109,500.00	1,042.80000	76,124.40
MARKE	E706 1 42 CTIVE PAVEM R(REMOVE A CE)(CLASS B)	ND	91,650.000 EA	4.00000	366,600.00	3.75000	343,687.50	4.00000	366,600.00



11/03/2022

Tabulation of Bids

Page 4 of 5

Letting:	01221103	November 03,	2022 C	all Order: 005		Contract:	E1V85	
Line No / Ite		ate Quantity Units	(4) AKCA, LLC		(5) ACME BARRICADES LC		(6) SOUTHWIDE INDUSTRIES, INC.	
() indicates it	em is bid as Lump Sur	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ΓΙΟΝ: 0001	(PAVEMENT S	TRIPING (LARG	E MACHINE) (LM				
0001 PAVEMENT STRIPING Section (LARGE MACHINE) (LM)		Section Totals:	\$2,567,224.00			\$3,045,148.50		\$3,433,487.00
	Contract (Grand Totals:		\$2,567,224.00		\$3,045,148.50		3,433,487.00



11/03/2022

Tabulation of Bids

Page 5 of 5

Letting: 01221103 November 03, 2022 **Call Order:** 005 **Contract:** E1V85

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.